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&3} b SRA7IEMNE SUA| 0 20245 03 132 17A] 068 23%




CHRES}7LE AFLE R| QIAFSIH
hEELS f;lx [EArEH 0 94,736,000 94,736,000
AteiH| A7) 774,238,173 1,097,894,932 323,656,759
27|12 BAAVIEHME SZUA| 0 20244 038 13¥ 17A]| 068 23%
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2314 0 5 0[ At /o 1,898
24'4 0| =0]A+: 10,000

2313 Of| 50| A H/HH: 78
244 0f| 50| A+ 10,000

231 AFRH| ZHolf: 3,039,532

23 WRAE AMH| 2H4: 896,230
2314 0 3 0[ At Lol 216

2414 0| =0|A: 10,000

2313 Ol 50|At: 6,417
24'A 0f|=0|At: 10,000
231 AFQH| 2ked: 339,000

23 ALIH| 2k 562,300
231 O 20|+ AU 424

234 0| 20| At 11,092
244 0f|Z30|A+: 12,000
234 AFQIH| ZFOH: 517,400

2313 O 2 0] A T A: 1,483
231 0 2 0[ A el 201

2314 6= 0[At: 1,964
231 A Z+EE 24: 150,000
24'A 0of|=0]At: 10,000
231 AFH| Zho: 2,450

23 0| =50[A+: 10,405
24'4 0| =0]A+: 10,000

231H AbdH| 2ho: 293,500
2313 Of| Z 0|2 LY H: 570

23 AMRIH| ZFOH: 4,963,160
23t 0| 50| At 2,924
244 0f| 20|A}: 10,000

A AbiH| ZHH: 3,635,790
2314 0 2 0[AF M 10,413




= |OllH[H] & 7] al N
N& E} ofld[d] & Z7|EF AH| 360,000 124,152,142 123,792,142
M& GllH|H| & 7|E} AA 360,000 124,152,142 123,792,142
HE 24 2,090,377,475 2,405,276,756 314,899,281
22t AN AL7|R: BSHIAIIRME Z2SAUA|: 20244 03Y 13 17A] 068 23%
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